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(3) ‘erZ BZnwQ  Am{U {MÝho, J{UVr` VH©$,  nwaoem {dXoMo {ZX}eZ
1) Oa + åhUOo ÷, × åhUOo -, - åhUOo × Am{U ÷ åhUOo +, Va 39 + 13 - 11 × 12 ÷ 3 Mr qH$‘V {H$Vr?

1) 18 2) 16 3) 24 4) 46
1) If + means ÷, ×  means — , — means × and ÷ means + , then what is the value of

39 + 13 - 11 × 12 ÷ 37 ?

1) 18 2) 16 3) 24 4) 46

2) Imcrc àíZm§V {MÝhm§Mm nwT>rcà‘mUo dmna Ho$cocm Amho :

{dYmZo :   T = S, U@V,            Vα S

AZw‘mZo : I. V α  T, II. T = V

n¶m©¶r CÎmao …
1) ’$º$ AZw‘mZ I gË¶ 2) ’$º$ AZw‘mZ II gË¶
3) AZw‘mZo I d II XmoÝhr gË¶ 4) AZw‘mZ EH$Va I qH$dm II gË¶

2) In following question symbols are used as follows :

P@Q means P>Q, Pd QmeansP>Q,P=Q means P=Q, Po. Q means P <Q,

P * Q means P <Q. Below statements and conclusions are given. Assuming these three statements

to be true state which of the following conclusions I and IT given below is definitely true.

Statements : T = S, U@V,            Vα S

Conclusions: I. Vα T, II. T=V

Answer options :

1) Only conclusion I true 2) Only conclusion II true

3) Conclusion I and II both true 4) Either I or II true

3) Oa -
i) P = 2Q ii) Q > R

Imbrbn¡H$s H$moUVo {dYmZ/H$moUVr {dYmZo {ZpíMVnUo MwH$sMo Amho/MwH$sMr AmhoV?
{dYmZo …
I) R > P — Q II) 2Q = P — R III) P × R = 2Q IV) P × Q > R

n¶m©¶r CÎmao …
1) ’$º$ {dYmZ I MwH$sMo Amho 2) {dYmZo I d II MwH$sMr AmhoV
3) ’$º$ {dYmZ III MwH$sMo Amho 4) gd© MwH$sMr AmhoV

3) If -

i) P = 2Q ii) Q > R

Which of the following statement / statements is / are definitely wrong ?

Statements :

I) R > P — Q II) 2Q = P — R III) P × R = 2Q IV)  P × Q > R

Answer options :

1) Only statement I is wrong 2) Statements I and II are wrong

3) Only statement III is wrong 4) All are wrong
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4) Oa P ho '-' Xe©{dVo, Q ho '×' Xe©{dVo, R ho '÷' Xe©{dVo Am{U S ho '+' Xe©{dVo, Va 50Q42R6P10S8 = ?
1) 358 2) 348 3) 312 4) 320

4) If P denotes '—', Q denotes 'X', R denotes '÷' and S denotes '+', then 50Q42R6P10S8 = ?

1) 358 2) 348 3) 312 4) 320

5) Oa "+" EodOr "-", "-" EodOr " × ", " ×' EodOr " ÷ ", "  ÷  ' EodOr "+" Va 56 × 7÷ 13-11+15-8 ÷ 2-
7 Mo ‘yë¶ {H$Vr ¶oB©c ?
1) 30 2) 60 3) 45 4) 95

5) If "4 stands for —, = stands for X’, ‘x’ stands for <=" and = stands for ‘+. Then what is value of 56

x 7+ 13-11 +15-8+2-77?

1) 30 2) 60 3) 45 4) 95

6) A§S>çmÀ¶m H$dMmMo AmdaU  (A)  AgVo. ¶m‘wio A§S>o CH$S>m¶cm ‘rR>mÀ¶m nmÊ¶mMm Cn¶moJ Ho$cm Va Vo Mdrcm ImaQ>
cmJVo. ¶mM H$maUmZo erVH$nmQ>mV gmR>dVmZm A§S>r Z PmH$coë¶m Vrd« J§YmÀ¶m AÞmgmo~V R>odcr Va Vmo A§S>çm§V
(~)  d Ë¶mMr Md {~KS>Vo.
1) cdMrH$ d gS>dVmo 2) gpÀN>Ð d nmPaVmo
3) Z nmPaUmao d g§gJ© H$aVmo 4) gpÀN>Ð d gS>dVmo

6) The membrane lining of an eggshell is    a  , and this is the reason using salt water to boil an egg can

make the egg taste salty. For the same reason, it is important not to store eggs in the refrigerator

with uncovered, strong-smelling food items since the scents can   b   the egg, causing it to taste

bad.

1) Flexible and addle 2) Porous and percolate

3) Impermeable and infect 4) Porous and addle

7) XmoZ [aH$må¶m OmJm (A) d (~) Agcocm nwT>rc CVmam Aä¶mgm Am{U Ë¶m AZwH«$‘o ^aÊ¶mgmR>r n¶m©¶mVyZ g‘w{MV
eãXOmoS>r {ZdS>m.
g§nyU©, gy¶©J«hU, Xþ‘ui IJmocr¶ KQ>Zm§n¡H$s EH$, VoìhmM KS>Vo ({XgVo) Ooìhm M§Ð n¥Ïdr^modVmcÀ¶m «̂‘U H$joVyZ,
n¥Ïdrdarc {d{eï> ñWmZmdéZ gy¶m©Mo Xe©Z nyU©nUo (A). IJmocr¶ ÑîQ>çm M§Ð VwcZoZo chmZ Agë¶mZo, Am{U M§ÐmÀ¶m
gmdcrÀ¶m ‘Ü¶^mJr Amcoë¶m JS>X N>m¶oZo gy¶© PmH$cm OmD$Z n¥ÏdrdéZ Ë¶mMm ’$º$ Aé§X ‘mJm©nwaVm ‘mJmodm KoVm
¶oVmo Aer, {deofV: eoH$S>çmZo hOmamo àojH$m§Zm AmH${f©V H$aUmar g§nyU© J«hU hr (~). KQ>Zm Amho.
1) PmH$moiVmo d Xþ‘ui 2) {d^mOZ d ¶moJm¶moJmZo
3) PmH$moiVmo d ‘hÎdnyU© 4) gmam§erH$aU ‘hÎdnyU©

7) Study the following passage with two blanks a) and b) and select the appropriate pair of words

respectively from options to fill these.

One of the rarest of celestial events, the total solar eclipse only happens when the Moon, in its

orbit around the Earth, fully (a) the view of the sun from a particular location on Earth. Because

the Moon is relatively small, in celestial terms, and its umbra, the central part of the Moon’s

shadow caused by its blocking the sun, only traces a narrow path on the Earth, a total eclipse 1s

such a  (b) occurrence that it typically draws hundreds of thousands of onlookers.

1) Occludes and atypical 2) Secularizes and desultory

3) Occludes and momentous 4) Epitomizes and momentous
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8) {X‘U ¶m XþJ©‘ nhmS>r JmdÀ¶m bmoH$m§Mr EH$ {d{MÌ gd¶ Amho. Vo ~mhoaÀ¶m bmoH$m§Zr {dMmaboë¶m àíZm§Zm Zoh‘rM XmoZ
dm³¶m§V CÎmao XoVmV. ¶mVrb H$moUVoVar EH$ dm³¶ Iao AgVo Va Xþgao ImoQ>o AgVo. àË¶jmV JmdMm gan§M H$moU Amho
ho OmUyZ KoÊ¶mgmR>r JmdmVrb gan§Mmgh VrZ ì¶º$s¨À¶m CÎmam§Mr Vwåhr Zm|X Ho$br Amho.
A) gan§M ñdV… gan§M Agë¶mMm Xmdm H$aVo, ‘r gan§M Amho.
B) ‘r gan§M Amho. A gan§M Amho.
C) ‘r gan§M Amho. B bm gan§M H$moU ho ‘mhrV Amho.
gan§MmMo Zmd {ZpíMV H$aÊ¶mgmR>r nwaoem {dXoMo {ZX}eZ H$aUmam n¶m©¶ {ZdS>m.
1) CÎmam§Mo H$moUVohr EH$ÌrH$aU Amnë¶mbm nwaoer {dXm XoUma Zmhr.
2) ’$º$ A Am{U B Mr CÎmao nwaoer AmhoV.
3) ’$º$ B Am{U C Mr CÎmao nwaoer AmhoV.
4) gdmªMr CÎmao Amdí¶H$ AmhoV.

8) The people of Diman, a remote hill village, have a strange habit. They always answer questions

asked by outsiders in two sentences. Any one of these sentences is true and the other is false. You

have recorded the answers of three persons including the village sarpanch to know who is actually

the sarpanch of the village.

A) Sarpanch himself claims to be Sarpanch, I am Sarpanch.

E) I am Sarpanch. A is Sarpanch.

A) I am Sarpanch. I know who the sarpanch is.

Select the option that directs sufficient knowledge to determine the name of the Sarpanch.

1) No combination of answers will give us an adequate farewell.

2) Only answers to A and E are sufficient.

3) Only answers to E and U are sufficient.

4) All answers are required.

9) ~mhoaÀ¶m§Zr {dMmacoë¶m H$moUË¶mhr àíZmcm {nnm ~oQ>mdarc a{hdmgr Zoh‘rM XmoZ dm³¶m§V à{VgmX XoVmV. Ë¶mVco EH$
Zoh‘r gË¶ Va Xþgao ImoQ>o AgVo, Ooìhm {‘ZrZo {dMmaco, ""Vw‘À¶m ~oQ>mdarc ~hþg§»¶ cmoH$ H$moUË¶m ZmMmMm AmñdmX
KoVmV""? VrZ ~oQ>dmgr¶§mZr {Xcoco à{VgmX nwT>rcà‘mUo AmhoV.
A) ~hþg§»¶ cmoH$ H$WH$Mm AmñdmX KoVmV. {H«$Ho$Q> nmhUo d IoiUo Amåhmcm AmdS>Vo.
~) ~hþg§»¶ cmoH$ Hw${MnwS>rMm AmñdmX KoVmV. {H«$Ho$Q> nmhUo d IoiUo Amåhmcm AmdS>V Zmhr.
H$) ~hþg§»¶ cmoH$ ^aVZmQ>ç‘Mm AmñdmX KoVmV. {H«$Ho$Q> nmhUo d IoiUo Amåhmcm AmdS>Vo.
{nnmdarc ~hþg§»¶ cmoH$ AmñdmX KoV Agcocm ZmMmMm àH$ma {ZdS>m.
1) ^aVZmQ>ç‘ 2) H$WH$ 3) Hw${MnwS>r 4) {Z{üV H$aVm ¶oUma Zmhr

9) Inhabitants of island Pipa always answer any question asked by outsider with two sentences : one

is always true and other is false. When Mini asked. "Which dance is appreciated by majority of

people of your island ?" Three islander replies were as follows.

A) Kathak is appreciated by the majority. We enjoy watching and playing cricket.

B) Kuchipudi is appreciated by the majority. We don’t like watching and playing cricket.

C)Bharatanatyam is appreciated by the majority. We enjoy watching and playing cricket.

Select the dance that is appreciated by majority of people of Pipa.

1) Bharatanatyam 2) Kathak 3) Kuchipudi              4) Cannot be determined
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10) àgmX, {‘qcX d ApëdZ ho VrZ [‘Ì Ë¶m§À¶m C§Mr{df¶r ~mocV Amho. gdmªZmM ‘m{hV Amho H$s, Ë¶m§Mr C§Mr doJdoJir
Amho, Ë¶m§À¶mn¡H$s àË¶oH$OU VrZ dm³¶o ~mocVmV. VgoM àË¶oH$OU Iao ~mocUmè¶m, ImoQ>o ~mocUmè¶m d AmcQy>Z nmcQy>Z
Iao ImoQ>o ~mocUmè¶m JQ>mVrc Amho. Ë¶m§Zr nwT>rcà‘mUo {dYmZo Ho$cr :
àgmX : ‘r gdm©V C§M Amho. ‘r Zoh‘r Iao ~mocVmo. {‘qcX Zoh‘r ImoQ>o ~mocVmo.
{‘qcX : ‘r gdm©V C§M Zmhr. àgmX ImoQ>maS>m Amho. ApëdZ gdm©V R>|JUm Amho.
ApëdZ : àgmX ImoQ>aS>m Amho. ‘r CcQ>gwcQ> ~mocUmam Zmhr. ‘r gdm©V R>|JUm Zmhr.
Va gdm©V C§M H$moU ?
1) {‘qcX 2) ApëdZ 3) àgmX 4) gm§JVm ¶oV Zmhr

10) Three friends Prasad, Milind and Alvin are talking about their heights. It is known that each of

them are of different heights. Each one of them speaks three sentences. Each of them belongs to

one of the three categories, Truth Teller, Liar and Alternators. They made following statements :

Prasad : I am tallest. I always speak truth. Milind always lies.

Milind : I am not the tallest. Prasad is a liar. Alvin is the shortest.

Alvin : Prasad is liar. I am not an alternator. I am not the shortest.

Then who is the tallest?

1) Milind 2) Alvin 3) Prasad 4) Cannot be defined

11) Ë¶mÀ¶m 6 dr À¶m dJm©H$Sy>Z àH$m{eV hmoUmè¶m X¡Z§{XZ gXa {c{hÊ¶mgmR>r C‘oXcm ¶mÑpÀN>H$[aË¶m {ZdS>coë¶m
Hw$Qw>§~m§H$Sy>Z H$Mè¶mÀ¶m {dëhodmQ>rÀ¶m Cnm¶m§Mr ‘m{hVr Jmoim H$am¶Mr hmoVr. Ë¶mZo 57 Hw$Qw>§~m§Zm Amdí¶H$ ‘m{hVr
{‘idÊ¶mgmR>r Img aMcocr àýmdcr nyU© H$aÊ¶mMr {dZ§Vr H$aUmao nÌ nmR>dco. àË¶oH$ {dZ§Vrgmo~V Ë¶mZo ñdV:Mm
nÎmm {chÿZ {VH$sQ> {MH$Q>dcocm {c’$m’$mhr R>odcm. ¶m àË¶oH$ {VH$sQ>mMr qH$‘V 6.6 é. Amho. Ë¶mcm Ë¶mVrc 33
OUm§H$Sy>Z à{VgmX {‘imcm Voìhm Vmo Iwe Pmcm.
¶m IQ>nQ>rV C‘oXcm nmoñQ>mÀ¶m {VH$sQ>m§gmR>r {H$Vr IM© Amcm ¶mMm {heo~ H$aÊ¶mgmR>r darcn¡H$s JaO Zgcoë¶m
‘m{hVrMr {ZdS> H$am.
1) àË¶oH$ {dZ§Vrgmo~V Ë¶mZo ñdV:Mm nÎmm {chÿZ {VH$sQ> {MH$Q>dcoë¶m {c’$mâ¶m§Mr g§»¶m
2) C‘oXZo 57 Hw$Qw>§~m§Zm nÌo {c{hcr
3) àË¶oH$ {VH$sQ>mMr qH$‘V 6.6 én¶o Amho.
4) 33 Hw$Qw>§~m§Zr à{VgmX {Xcm

11) Umed wanted to collect information about the measures of garbage disposal employed by randomly

selected families, for writing a column in a daily that is published by his 6th standard class. He

wrote to 57 families requesting for completing questionnaire designed for getting needed

information. He enclosed a self addressed stamped envelope with each request. The stamps cost

Rs. 6.6 each. He was happy to receive replies replies from 33 of them.

Select one of the pieces of information given above that is not needed to work out how much this

exercise cost Umed in postage

1) Number of self addressed stamped envelope enclosed with each request

2) Umed wrote to 57 families

3) The stamps cost Rs. 6.6 each

4) 33 families replied

CÎmao : (3) ‘erZ BZnwQ  Am{U {MÝho, J{UVr` VH©$,  nwaoem {dXoMo {ZX}eZ
1-3 2-1 3-1 4-2 5-3 6-2 7-1 8-2 9-3 10-1
11-4


